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TrigonometryExercise Answers for No.9844

5./61 6461 5 Je1 Je1 o 6} {«/7}
CO =" -
6 9 5 b 9

,cos(A4) = ,tan(4)=",csc(4d)="""",sec(4) = (

61 61 6 5

> ;/9879, cos(4) = 8 «!9879’ tan(A4) :g, csc(A4) = J?, sec(4) = «/:79, cot(A) :§l , {ﬂ}

] X A/ 25 — X X 5 5 A/ 25— x°
Ans3 =|sin(4A)=—",cos8(A)=—""_",tan(4d)=—F7————=,csc(4d)=",sec(4d) =—F——,cot(4 ) =——
S S A25 % X A25 % X

GERL A (4) ==, osc(A) =, see(A) =~ cot(4) —xz_g}
) an = ,CSC :_, S€C = ,CO =
X Ax =9 3 Ax =9

Ansl = {sin(A) =

Ans2 = {sin(A) =

3
Ansd = { sin(4)="—",cos(4) =
X

3
Ans. 1 =[y=sin(0),2w, 1,[-1,1]] l(
Ans.2=[y=2cos(0),2 7, 2,[-2,2]] j)
Ans.3=[y=sin(20),m, 1,[-1, 1]] i 11 =

- [ y=2 sin(ﬂj, black} |

Ans.4=[y=—6sin(46),—, 6,[-6,6]} 2 )
2 Ty )
1 1011 [y=—3 cos[—j+3,green} N
Ans.5:[y:—cos(4e),—,—[—,—ﬂ 2 )
AnsS = 6 2°6L66 , Ans6 = X | =
0 y=-2cos ; -3, cyan |
Ans.6:{y=—4sin(;j+3,61t,4,[-1,7]} 2)
1 [y =3 sin[ij, red} A

Ans.7=[y=—5 cos(6 7 0), =, 5,[-5,5]} o \2 )
3 L [y=-sin(x) + 3, blue] -
1 (n6 1[-17 -15 o
Ans.8=|y=——cos| —/— |-4,10,—,| —,—— 2)
i 4 5 &L 4 4 ] Y
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TrigonometryExercise Answers for No.9872
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0002]

345
5
94/17

17

5 2 5
Ansl = {sin(A) = g, cos(4) = g, tan(4) = 7’

17

8 9

7 8
Ans2 = {sin(A) = ,c08(A) = 5, tan(A4) =

2

x —
Ans3 = { sin(4) = Z’ cos(A4) =
2

X X
Ansd = { sin(4) = ;, cos(4) = T

Ans.l =[y=cos(0),2m,1,[-1,1]]
Ans.2=[y=3sin(0),2 m, 3, [-3,3]]

27
Ans.3=| y=cos(39), BE 1,[-1,1]
] 27
Ans.4:[y:—3 sin(5 e),7,3,[-3,3]} {

0
AnsS = Ans.5 = {y =-2 sin(gj, 12w, 2,[-2, 2]} ,

1 . 2w 1|29 31
Ans.6 = y:—gsm(3 6)—1—5,7,8, z,z

Ans6 = [

2
Ans.7=[y:—6 cos(3m 6),5, 6, [ -6, 6]}

1 (nH 1|14 16
Ans.8 = y=—§sm? + 5, 12,5, ?,?

9
,sec(4) = g, cot(4) =

X 4 4
)= i e =)=
X 3 3 B
s tan(4) = m, cse(A4) = o sec(A4) _—m, cot(4) =

5

1
Y=
3

5

£ [

3
,sec(4) = 5, cot(Ad)y=—"—"

o«

17

_ . -
[ y= —5 sin(zj + 4, green}

cos(2 x), black}

TX \
y= —5 COS(T) + 2, cyan}

[y=sin(x)+ 3, blue]

[_i
Y=y

TX
cos(—J, red }
3

£ [
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N

16 — x*
,cot(d) ="
X

"

I
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TrigonometryExercise Answers for No.9873

X

[Page

25} [

Y tan() =2 o) =2, see(A) =
tan(4) == = ese(4) = 3, see(4) = 3 »

L5 B o2 13] [

3 ool d)= seeld) =5, coltd) =", o

A 16 — X
X

. 3 2 0
Ansl =| sin(A4) = ;, cos(4) = ,cot(4) =

, 24/ 10 3
Ans2 =| sin(4) = ,c08(A) = ;, tan(A4) =

A 16 — X

X
1 ,cos(A4) = Z, tan(4) =

4 4 X
,cs¢(A)="—"F———=,sec(4d)=",cot(4) = —}
A16-x x 16 —x°

Ans3 = { sin(4) =

, 1 x 1 ; A1+x
Ansd =| sin(A) ==, cos8(4)=—F———=,tan(4) =", csc(Ad) =4/ 1 +x",sec(4d)=—""",cot(4) =x
A1+x A1 +x X X

Ans.1=[y=cos(0),2m, 1,[-1,1]] l(
Ans.2=[y=6sin(0),2 w, 6, [-6, 6]] ')
- ) | £

Ans.S:[ =cos(40),—,1,[-1,1 5 N
4 (49) 2 [ ) {y:—cos(ﬂj+4, red} _(
27 2 2
Ans.4:{y:2cos(5 0),—, 2,[-2,2]} 3 X A
5 y:—Ecos E , cyan )
Ans5 = 1 nl|-11 , Ans6 = =
Ans.5 = y:5c05(6 6),;,5, 5,5 [y=—cos(x)+2, green] N
0 [y=2sin(2 nx), blue] 2)
xhw6:[y=—35m(g)—L12m3,ﬁ&2]} [y=2smf§]+3mek} «
w2 | |
ns. —y——scos 3 05| 5% )(
| Ans.8 =[y=-3cos(2m0O)+3,1,3,[0,6]]_ —(
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TrigonometryExercise Answers for No.9884

Ansl = sin(A)=6 s ,cos(A)=7;£5875 tan(A)—6 csc(A)=—"" p sec(A)—Jg,cot(A)=%}, ,{L()
Ans2 = sin(A)z@,cos(A)zg, tan(A4) = ,csc(A):szlzl sec(A)—5 cot(A)—Z;/lle ,P/?
an53=| i) =2 o) =, tanty = L2 sty < sy, ) - |
ns3=|sin(A)=—""-"",cos(4d)=",tan(4)=—""""",cscC ——,sec(4)=",co
i 3 3 x /9 9_ 2 |
Ans4 = A A tan(4) =— A)= = cot(4) =
ns {sm( )= m cos(4) = m an(A4) = csc( )= sec( )= ,cot(4) = }
[ Ans.i=[y=cos(0),2m 1,[-1,1]] ] i 1
Ans.2=[y=-4sin(0),2 n, 4, [-4,4]]

AnsS =

[Page 0004]

X

2r
Ans. 3 :[y:cos(3 0), T, 1, [-1, 1]}

i
Ans.4:[y:—6 cos(40), 5, 6, -6, 6]}

ol

0
Ans.6:[y:—4 sin(g) +4,10m, 4, [0, 8]}

sl

1
Ans.7 = [y——4s1n(5n6)gz Z,Z

1 2m 1
Ans.5 = y=—6 cos(3 0), T g

11

6’6

w0
Ans.8={y=—5 COS(T) -5,6,5,[-10, O]}
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, Ans6 =

.

sl |
2cos 3 , green

3
{y = —5 sin(2 7 x), blue}
[y =—cos(x)+ 1, black] |

X
y=3 COS(T] + 3, red}

L[y=3sin(2x)+4,cyan]_
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TrigonometryExercise Answers for No.9885
9477 «/77} {«/7}
77 b 2

,cot(4)= 5 "

5434 3 ﬁ |34 5 Ao
34 3 P O Y I

, tan: (A)_ ,csc(4) = ,sec(A4) = (

Ansl = {sm(A) = 2 ,cos(A4) = ! ,tan(A4) = 2 ﬁ csc(A4) = 2 sec(A) =

. 3434
Ans2 =| sin(4) = ,cos(A) =

A -1 1 x 1
Ans3 = { sin(4) = x—, cos(4)=",tan(A4) =4/ -1, csc(A4) = ﬁ, sec(A)=x,cot(A4) = —]
X X X -1 ?

x =1
st | i 4 A x> —49 P A X —49 p x p p 7
ns4d =| sin(4) = —x ,cos(A4) = K tan(4) = —7 ,csc(A4) = —m sec(4) = COt( )= m

(O
Ans.8 :{y: -5 sm(T] —-5,8,5,[-10, 0]}

Ans.l=[y=cos(0),2m, 1,[-1,1]] l
Ans.2 =[y=2sin(0),2 m, 2, [-2, 2]] )(
27 _ _ =
Ans.3=|y=cos(30),—, 1,[-1, 1 :
s [y cos(3 0), 37 (L1 [y:—écos(ij—&black} )(
Ans.d=[y=5cos(20), 7, 5,[-5,5]] 2 \3 e
mss=[y=Lan0r 22 1[211]] et 2| ||
anss=| TP TeCOTE 6] | anss = 2\ 2 |2
0 3. o
Ans.6=[y:—2sin(zj+4,8n,2,[2,6]} y=—251n(2x),cyan Pl
| 117-1 1 [y=3sin(2 nwx)—2,blue] A(

Ans.7 = [y——gcos(6n9)§g[;,gﬂ L [y=-sin(x)+ 3, green] _ 2
o

2

o
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TrigonometryExercise Answers for No.9895

Ansl =| sin(A4) = 1/375 cos(4) = 4 tan(A) = 1/275, csc(A4) =% sec(A4) = ? cot(A) = 4 f}, , { J(j
Ans2 =| sin(A4) = ! @ ,cos(4) = 6 «/g ,tan(A4) = z CSC(A) = @, sec(4) =&, cot(A4) = g}’ ’ {ﬂ
L 85 85 7 6 ( i
Ans3 =| sin(4) = ﬁz— cos(4) = % tan(A4) =§, se() =L ey =y
+ X 4 +x |

A X =36 A x* =36
X 6

Ans.l =[y=sin(0),2w, 1, [-1,1]]
Ans.2=[y=-5co0s(0),2m,5,[-5,5]]

6
,cos(A)=",tan(4) =
X

X 6
, A)=—FTF— A)= A)=—F—
CSC( ) m sec( ) COt( ) m :|

Ansd = { sin(4) =

2n
Ans.3:[ =cos(50),—,1,[-1,1
Y (59) 5 [ | [y=3cos(2x),cyan]

AnsS =

[Page 0006]

X

1
Ans.8 = [y—— sin(3w0O)-5,-,-,

] 27
Ans.4:[y:—6 sin( 5 6),7, 6,[-6,6]}
(6
Ans.5 :[y: 3 s1n(gj, 12 &, 3, [-3, 3]}
35
55
)
Ans.7 = [y =-6 COS(T), 6, 6, [ -6, 6]}
21

L 1

1
Ans.6:[y: gcos(66)+ 3 5,

, Ans6 =

36

22]
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X
{y =2 sin(;] -2, blue}

TX
{y 3 sm( 5 J black}

[y =—cos(x)— 3, green]

3 (mx
y=—_sin| —/_ |+ 2, red
i 2 2 i

N

e R N AN A A N
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X
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TrigonometryExercise Answers for No.9898
465 4 465 94/ 65 9 4 4/ 65 :
Ansl = {sin(A) =" ,cos(A4) = tan(A) =", csc(A4) = ? sec(A4) = cot(A) =65 }, , { J(j }

24/53 74/53 2 \53 253 o 7} {«/ ) }
b CO =" b b
7 2

,cos(A4) = ,tan(4) = csc(A) = ,sec(A4) = (

53 53 2
_ 4 A -16 +x° 4 x A -16 +x°
Ans3 =|sin(4A)=",cos8(A)=—",tan(4) =~ ¢csc(4) = sec(A) T, c0t(4)="" "
X X N-16+x* A =16 +x° 4

A= 1 X
Ansd = { sin(A)=—"""",cos(A4)=",tan(4) =+ -1, csc(A4) = ﬁ, sec(4)=x,cot(A4) =
X X -1

Ans2 = {sin(A) =

=
[\J‘_‘
|
—_
[

Ans. I =[y=cos(0),2m, 1,[-1,1]]
Ans.2=[y=-5sin(0),2 x, 5,[-5,5]]
T - _
Ans.S:[ =sin(6 0 ,—, L[-1,1 } 1
4 (69) [ ] [ —cos(2mx)+4, blue}
Ans.4 = [y 5cos(40),— ,[-5,5]} { ( J }
2’ :—sm green
1 2m 1 |-11
Ans5 = Ans.5 = {y—gsm(:%e),?,}{z,gﬂ , Ans6 = —sm(x) 2, cyan] |,

5
0 5
A”Sﬁ:[y=3<308(5j—3,4n,3,[-6,0]} [y 5 C0s(2x) =2, black

Ans.7=[y=—2cos(5n6),§,2,[-2,2]} [y_—2s1n( Jred} ]

1 ) 1|-16 -14
Ans.8 = y=—5cos T —5,8,5, T,?

[REEICSRESRV OV ID:9:9:9:9:9:9.:9:9:9.9:9:9:9:9:9:9:9.9.9.9.9.9.0.0.0.0.0.0.0.0.0.0.0.0.9.0.0.0.0:0:0:0.0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.:0.0.0.0.9.9.0.:0.:0.0.:0.0.0.0:0:0.9.0.9.0.0.0.0:0.0.0.0.0.0.0.4

N AN R e e AN




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXX XXX XXX KKK X KKK XKL XKL LKL KKK LXK KKK XKL KKK X KKKKKKKKKMS /1-6700302-00008XX

TrigonometryExercise Answers for No.9899
21 2421 5 5421 4/ 21 A2)
,tan(A)=—"_",csc(4)=_,sec(4) = ,cot(4)= .
21 2 21 2 o

25, tan(A) = 3 m’ CSC(A) :z’ SGC(A) — 7410 , COt(A) :@l , |:£:|
! 20 3 20 3 o

2
Ansl = {sin(A) = g, cos(4) =

3
Ans2 = [ sin(4) = ;, cos(4) =

¥+ ¥+ 9

3 3
——,sec(d)=—""_,cot(4)="—"
X 3 X

X
NETR tan(A4) =;, csc(A4) =
L X +9 X +9

A/ 9
I 1/4—x2 X 4/4—x2 2 2 X |
A 4—x

X
Ans3 =| sin(A4) = B cos(4) =

Ans4 =| sin(A4) = ,cos(A4) = 5, tan(4)=—"",csc(4) = ,sec(A)=—",cot(4)=
X X

L 2 2 4—x2_

[ Ans.I=[y=sin(0),2m 1,[-1,1]] | )
Ans.2=[y=2cos(0),2m 2,[-2,2]] o
Y - — N
Ans.3 =[y:sin(6 0), ?, I,[-1,1] [y=sin(x)+ 1, green] l
25 =Seol 5ot ||
Ans.4={y=—4cos(39),7,4,[-4,4]} YET N g e 2
1 n1[-11 [ > (x] } )(
a T ly-11 y=-—_cos| _ |, cyan :
—| Ans5=|y= 4 _ 2
AnsS ns.5 {y 2cos( 6),2,2,[2,2}} . Ans6 2 3 , ”
0 [ Ly (Mj+4 red} )
Ans.6:[y:4cos(§)—1,671,4,[-5,3]} R UL R 2
A R R E
Ans.7=[y=—gcos(2ne),1,5,[3,5“ IR Y AR | l(
(mO Y,
Ans.8 =| y=-3 sin ? -1,12,3,[-4,2] —(
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TrigonometryExercise Answers for No.9920
54/39 A
b 2

_ 39 5 439 84/39 8
Ansl =| sin(A4) = T, cos(4) = g, tan(4) = ,csc(4) = ,sec(4) = cot(A) =19 >

5
2;/; csc(A)—3 sec(A)—3 55,cot(A):§l ,{L()}

Ans2 = {sin(A )= %, cos(A4) = @, tan(A4) =

2
X

1 -1
Ans3 = { sin(d)=—",cos(4d)=—"",
X X

1 X
tan(4) = ﬁ, csc(A)=x,sec(A4d) = —, cot(A4) =+ x =1 ]
x =1 Al x o
Ans4 —{sm(A) m cos(4) = m tan(A4)=—" csc(A) = sec( )= cot(A) = }
X+ X"+

| Ans.l=[y=cos(0),2m 1,[-1,1]]
Ans.2=[y=-4sin(0),2 n, 4,[-4,4]]
Ans.3:[y:sin(46),£,1,[-1,1]} T 3 (nx |
2 y = cos T +4, cyan

27
Ans.4=|: =-2cos(50),—, 2,[—2,2]} 5
4 (59) 5 y:5c05(2nx),blue

Ans6 = [y=cos(x)—2,green] |,

= s3]
y——2sm 5 +3,re

N

1 n l]-11
AnsS = Ans.5 = y—6sm(4e)Eg g’g

0
AnS-6=[y:—4 cos(g)w, 10w 4, [-1, 7]}
3
1 0 11-11 = _——gi
Ans.7=[y:——cos(—],4, [ H I {y 281n(2x), black} |
5 2 5L575

1
Ans.8=[y=—5 sin(6mO)+4, g, 5,[-1, 9]}
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TrigonometryExercise Answers for No.10000
5./34 3 \34 34 5 o
s ,cot(A)=§ N

1 ,cos(A4) = ,tan(4)=—",csc(4d)=—""_"",sec(4) = (

34 34 5 3

’ f, cos(4) = s f, tan(A4) :g, csc(A4) = E, sec(4) = «/jig, cot(A) :%l , {L()}

3
Ansl = {sin(A) =

Ans2 = {sin(A) =

| 1

Ans3 {sin(A) 1 cos(A)=—"",tan(4) =—F7——, csc(4) sec(A4) — cot(A4) =+ : 1]
nso> = = = = =X — =al x° —
x x A =1 , q/x2—1,
A9 —-x X «/9—x2}
X

X 3 3
Ans4d =| sin(4A)=",cos8(A)=—"",tan(4) ===, csc(4d) =", sec(4) =—F——, cot(4) =
l: 3 3 A9 —x X A9 —x

Ans.l=[y=cos(0),2m 1,[-1,1]] i 1
Ans.2=[y=3sin(0),2 m, 3, [-3,3]]

Ans.3 =[y: sin(4 0), g 1,1, 1]}

2
Ans.8=[y=—3 sin(5 9)—5,g, 3, [-8, -2]}

2

A

) 2

(X o

. 2 y=3sin 5 — 2, black )

Ans.4=| y=5sin(3 6),7, 5,[-5,5] - - —(

(x :

Anss5=|  Ans.5 { " sin(40), ~ 1[_1 IH Ans6 y=—2sm(5lgreen )
= ns.o = =" S 5_9_9 _9_ i) = - - > i
s "6 2’61676 P =3 cos(2mx)+ 3, red][|
(6 T X 2)

Ans.6 = y:SSm; —-1,4m, 5 [-6,4] y:2c0sT,cyan —(

1 o) 1[-11 Tp=— _ 1 .

Ans.7 = [y =— sin(n—} 6, [—, —H L Ly=—cos(x) =2, blue] 2

5 3 5L5°5 o

)

A
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TrigonometryExercise Answers for No.10017
44/33 V)
b 2

o«

Ansl = {sin(A) = E cos(4) = 2 tan(A) = E, csc(A4) = ! 3 ,sec(4) = ! cot(A) =" 13

Ans2 = {sm(A) = 2 ,co8(A4) = > ,tan(A4) = 2033 ,csc(A4) = ! sec(A) = 7933 ,cot(4d) = > }, , { ﬁ}
33 33 4 N
{ 49 —x° X 7 7 49 — x* }
Ans3 =| sin(A4) = cos(A) =—— L tan(4d)=—F7———=,cs¢(4)=",sec(d)=—F——=,cot(4d)=—""""—
7 49 — x* X 49 — x* x

Ax* =9 3 AxXr=9

X
Ansd = { sin(d)=—"",cos(A4d)=",tan(4d)=—"_,csc(4) =—F7——,sec(4) = cot(A)
X X 3 J2—9

IN -
L 1

X
[ Ans.=[y=sin(8),2m, 1,[-1,1]] )]
Ans.2=[y=5cos(0),2m 5,[-5,5]] A
. 2n - . 2)
Ans.3=|y= 30),—,1,[-1,1 -
ns [y sin(3 0) 3 [ ]} {y:—lcos(ij—%blue} o
T 2 2 )
Ans.4:[y=6sin(49),—, 6,[-6,6]} 1 X -
2 y =7 cos\ " |, green A
Ans5 = Ans.5:[y:—4cos(gj, 12 n,4,[-4,4]} . Ans6 = [ ‘ (nxj } 2
6 y=3sin| = |+ 2, cyan A
{ - n 1[26 24H 2 )
Ans.6 =|y=——"sin(60) -5, —,-,| —/—, 5 . -
5 3’5L5°5 [y=—531n(2x), black} (
e .
Ans.7 = [y =-6 cos(%j, 6, 6, [-6, 6]} L [y=-sin(x) -3, red] l(
Ans.8 = { 1 670 lll[é éﬂ l
] ns. y——4cos( no)+ ya|laa a

[REEICSRESRVION N 1D:9:9:9:9:9:9:9:9:9:9:9:9:9:9:9:9:9.9.9.9.9.9.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0:0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.0.0.9.9.9.0:0.:0.0.:0.0.0.0:0:0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.4
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TrigonometryExercise Answers for No.10025
8415 «/15} {«/.-)}
b 2

,cot(4)= y

5 7415 8
,tan(A4) = T, csc(A4) = ;, sec(4) = 15 "

5489 3489 5 /89 fso _§} {ﬂ}
89 89 5 g - OUAD=5

,cos(A4) = ,tan(A) :g, csc(A4) = ,sec(A4) = (

7
Ansl = {sin(A) = g, cos(4) =

Ans2 = {sin(A) =

2 2
Ans3 ‘: in(A) -16 +x (A) 4 an(4) -16 +x (A) X (A) X ((A) 4 }
ns3 =| sin =————, oS =—, tan =——————,csC =—F/—, sec =—,COo =7
X X 4 Al =16 +x° 4 A =16+
1/9—x2 X 4/9—x2

. 3 3 x
Ans4=|:SIH(A)= . ,cos(A)=3,tan(A)= . ,csc(A) = ,—9_x2,sec(A):x,cot(A): 9_)3}

[ Ans.i=[y=sin(0),2m 1,[-1,1]] ] )
Ans.2=[y=6cos(0),2m 6,[-6,6]] N
Ans.3=[y=cos(46),£,1,[-1,1] )

2 . o

2 [y=-sin(x) + 3, cyan ] )

Ans.4=[y=6sin(3 6),—,6,[-6,6]} T x -~

3 y=-2cos| — |, blue o(

A A 5—[ 1 20 l[ilﬂ A ; %
nsy=|  Ans3=|y=geos(20). 1| Lol Ans6= [y:—2 cos(%j—4, red}’ o
) .

Ans.6:[y:5 cos(5)+5, 4m5,[0, 10]} [y=3sin(2x)+2, green| l

1 T | [y=3sin(2 x), black] i«
Ans.7:[y:——cos(2n9),1,—,{—,—}} J

4 4144 o

) 2)

Ans.8 =| y=-5 cos 7 —-1,4,5,[-6,4] —(

X [Page = 0012] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKXKKKXXXXXK KKK KKK KL LKL LKL X XXX XXX KKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXKX XXX KKK XKLL XKL XKL LKL KKK LXK LXK XKL X KKK KKKKKKKKKMS /1-6700302-00013XX

TrigonometryExercise Answers for No.10057
3410 i)
— |

20 20 A

&

N

Ansl =[sin(A) =@ cos(4) = 2 tan(A) = 2 @, csc(A4) =ﬂ sec(A4) = ! cot(A) =

{ 4 3 4 5 5 3} [
Ans2 =| sin(4) = cos(A) =" tan(A) = csc(A) = sec(A) = cot(A) = ,

I X q/49—x2 X 7 7 «/49—x2_
Ans3 =| sin(A4) = cos(A) =—— L tan(4d)=—F7———=,cs¢(4)=",sec(d)=—F——=,cot(4d)=—""""—
i 7 49 — x* X 49 — x* X
, X 25 —x° X 5 5 25— x°
Ans4d =|sin(4d)="—,cos8(A)=—"_,tan(4d)=—F—=,csc(4d)=",sec(4d) =—f————,cot(4) =
L 5 5 25 —_xz X 25— x2 _

i Ans.1=[y=sin(0),2m, 1,[-1,1]]
Ans.2=[y=-6cos(0),2m, 6,[-6,6]]
Ans.3=[y=sin(20),m, 1,[-1,1]] _[y: 3cos(2mx)+4, cyan]_
Ans.4=[y=6sin(20), m, 6,[-6,6]] 5 TX
[yzgsin 7 , black

0
Ans5:|:y:—4 COS g , 12 T, 4, [‘4, 4]

3 X
AnsS = l I l l § , Ans6 = {y:—gcos(g], blue} R
Ans.6=|y=—"cos(40)+ 1, , )
2 2°2°12°2 [y=-sin(x)+ 1, red]
. [0 1
Ans.7 =| y=-5 sin T ,4,5,[-5,5] yz—Ecos(Zx)—3,green
| 1 [-31 29 ) )
Ans.8=|y=—"cos(2m0O)-51,-,| — —
L 6 6L 6 6 ]l

N AN e e N L
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TrigonometryExercise Answers for No.10061
3458 7 \/58 58 3 o
. p 5 ccotld)=_h T

7
Ansl = {sin(A) =

s ,cos(A4) = tan(A)— ,csc(4) = ,sec(A4) = (
{ 3 4 3 5 5 4} [ﬁ}
Ans2 = s1n(A)— cos(A)—— tan(A)— csc(A)— sec(A)— ,cot(A) = "_(
Ans3 _ A 4By A) =, see(4) =——— cot(4 RS
ns —_sm( )— ,c08(A) = s , tan( )—ﬁ,csc( )—x,sec( )= 25_x2’C0t( )= B _
A4__.A_1 s x5 s afasea
ns —_sm( )—5,cos( )= 5 , tan( )—m,csc( )—x,sec( )= 25_x2’C0t( )= x _
Ans.l =[y=cos(0),2m, 1,[-1,1]] l
Ans.2 =[y=—-6sin(0),2 m, 6,[-6,6]] )(
Ans.3=[y=sin(20),m, 1,[-1, 1 11 =
ns [ [y=sin(20) gn [ 11 } [ _ 3 cos( j blue} ”
Ans.4 =|y=2si —,2,[-2,2 :
nsd=|y=2sin(30). 3’ »[2,2] [y =—sin(x) + 3, green ] 2
A 5—[ L cos(30 Zil[ilﬂ 3 ( ) } i
s — ns.5=|y= 4cos( ), 34| 22 ' Ans6— y= 2 3 black , l(
Ans.6:{y=—3 cos(%j—L 10, 3, [-5, 1]} [y%cos(?]u, cyan} _)
1 o
Ans.7:[y:—2cos(6n6),§,2,[-2,2]} {y:ésin(2nx)+4,red} 2
LT 1[-3-1 ) |
Ans.8 = y:—gcosT -1,6,— > 55 _)
L ]
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TrigonometryExercise Answers for No.10071
7458 3 \/58 58 7 o
- ,cot(A)=§ , S| T

,cos(A4) = g tan(A4) =;, csc(A4) = ,sec(A4) = (

S,COS(A)=§, tan(4) = B,CSC(A)= SE’SGC(A):Q cot(4) = 35}’ {E}
3 3 55 3 55 o
¥ -1 1

T_, tan(A4) = NN csc(A)=x,sec(Ad) = ﬁ, cot(A)=+/x" -1 ]

3
Ansl = {sin(A) =
58

Ans2 = {sin(A) =

x =1

N x 2 2 q/4—x2}
X

X
Ansd = { sin(Ad)=",cos(4)="",tan(4) =77, csc(4)=",sec(4d) =", cot(4) =
- 2 A4-x X A4-x

1
Ans3 = { sin(4)="—",cos(4) =
X

[ Ans.I=[y=cos(0),2m 1,[-1,1]] ] )
Ans.2=[y=-3sin(0),2 m, 3, [-3,3]] o
) 2n 2)
Ans.3=| y=sin(50),—, 1,[-1, 1] ] | £
5 [ mx o
' 2 y=-3sin 3 —4, blue )
Ans.d=| y=—6sin(50),—, 6,[-6, 6] 2
5 [ x o
s s, S [ 1 in(3 0) 27 1[-1 1}} et y =3 sin| ; -2, red )
= ns.5=| y=T_sin e Ry i = ‘ =
- ) 372122 " [y=sin(x)+ 1, green] o
) :
AI”IS.6:|:);:—3 Sin(;j+4,10 T, 3,[1,7]j| |:y:%cos(2x)’ black} —)(
1 0 1[-11 —_ .
Ans.7=[y=——cos(n—), 2’_’[_’_H L [y=—2cos(2mx),cyan] | 2
4 6 4144 o
: 2 2)
Ans. 8 = y=—6sm(3n9)+2,§,6,[-4,8] —(
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TrigonometryExercise Answers for No.10088

Ansl { A 2 A it A 2 A 2 A 2 t(A4 i} [
sl =| sin(4) =, cos(4) = g tan(4) =, ese(d) =, see(d) = cot(A) =5 |,

3 4 3 5
Ans2 = {sin(A) = g, cos(4) = g, tan(4) = Z’ csc(A4) = 5, sec(4) =

2 2

] - X X 9—x
Ans3 =| sin(A4) = T, cos(4) = ;, tan(4)=—"",¢csc(4) =
X
Ansd = sin(4) ===, cos(4) ==, tan(4) = csc(A)
ns4 =| sin(4d)=—"F=——,c08(4)="F7—,tan(4) =", csc(4) =
L X +9 X +9 X
| Ans.l=[y=cos(0),2m 1,[-1,1]] |
Ans.2=[y=5sin(0),2 m, 5, [-5,5]]
2n
Ans.3=| y=cos(3 6),7,1,[-1,1]
2n
Ans.4={y:—5cos(39),7,5,[-5,5]}
0
Ans5 =| Ans.5=|y=—-4cos E ,4m 4,[-4,4] , Ans6 =

2751

5 ’4’

33
44

B

1
Ans.6:{y:—zsin(5 0)+1,

1

23 25

1
Ans.7 = y=-5sin(4 71 0H), E’ 5,[-5, 5]}

1 (n6
Ans.8 = y=—gsm— +4,06,

3 6L6° 6

[Page

X

(V10NN 1D:9:9:9:9:9:9:9:9:9:0.0.0.9.9.9.9.0.0.0.0.0.0.0.0.0:9.9:0:0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.0.:9:0.0:0:0.:0.0.:0.0.0.9.9.0.9.0.0.9.0.0.0.0.0.0.0.0.9.0.

)

|

o
é, cot(A) :i}, ,[ﬂ}
4 3 o
3 3 X
ﬁ, sec(A4) = ;, cot(4) = 90—
. —Xx
X +9 x*+9 X
T, sec(4) = T, cot(4) = ;
_ J -
(
[ [y=—sin(x) — 3, green] l l(
yzécos(an)—Lred )
x (
{ y=3 sin(;], black} 2
sl |
y_—2 CcosS 3 ) ue _)
x (
[y =2 sin(;] +3, cyan} 2
L - (
2
Lo

XX XXX XXXXXXXXKXXX
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TrigonometryExercise Answers for No.10385
44/33 A
b 2 '(

5474 7ﬁ 5 e ﬁ ] Ao
7 cot(A)— N B

Ansl = {sin(A) = E cos(4) = 2 tan(A) = E, csc(A4) = % sec(A4) = ! cot(A) =" 13

AnsZ:{sin(A): ) ,cos(A) = -~ tan(A)— ,csc(4) = s ,sec(4) = "
Ans3 = sin(A)=; cos(A)=;, tan(A)=i, csc(A)=—""— sec( )=""""" t(A)—
i A X +25 X +25 x ]
, A/36—x —x 6 6
Ansd =| sin(A)=—""—"",cos(4) = tan(A) == ,cs¢(4d)=—F———=,sec(4d)=",cot(4) =
i 6 X 36 —x° X 36 —x"
Ans. 1 =[y=sin(0),2m, 1,[-1,1]] l
Ans.2=[y=6co0s(0),2m, 6,[-6,6]] )(
2T _ _ -
Ans.3=y=sin(50),—, 1,[-1, 1 ;
ns [y sin(5 0), s . [-1, ]} {yzésm( jblack} )(
Ans.4=[y=3sin(20), 7 3,[-3,3]] 2 A3 a
5[y Lo 212 1] =l 25 ||
anss=| AT EFOOD T T] | ee 2\ 3 =
0 [y =cos(x), green] o
Ans.6:{y:—5 cos(;j+4,4n, 5,[-1,9]} [y=3cos(2x)—4,cyan] 2)
n 0 {y:—Z cos(ﬂ]—&red} (
Ans.7 =| y=—6 cos T ,8,0,[-6,6] L 2 | 2
1 212426 :(
Ans. 8 = y——ssm(3n6)+ e 5,? 2)
L | A
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TrigonometryExercise Answers for No.10387
5./61 6 Je1 Je1 5 o
o1 p 5 ~cot(d)="1h |77

Ansl = {sin(A) = 6 ,tan(4) = csc(A) = ,sec(A4) = (

[ 2 345 2J§ 7 ¢§ 3¢§l ’{JJ_

Ans2 = sm(A) = cos(A) = T, tan(A4) = ?, csc(A)=_,sec(A4) = ,cot(A) = 5 (

,cos(A4) =

/ 2
x -1 1 X
Ans3 =|sin(A)=—"",cos(4)=",tan(A4) =4/ -1, csc(A4) = —, sec(A)=x,cot(A4) =
X X / 2 _

[\

L x =1 ]
Ansd = { (4)= (4) ==, tan(4) =, cse(d) = see(A) = “49+x (4) }

ns4 =| sin , COS an —— csc(A) = ,sec(A) = ,C =—

4/49+x «/49+x 7
Ans.1=[y=cos(0),2m, 1,[-1,1]] l
Ans.2 =[y=-5sin(0),2m, 5,[-5,5]] (
Ans.3=[y=sin(20),m, 1,[-1, 1]] - l(
Ans.4=[y=—5 cos( 4 e),g, 5,[-5,5]} [3’2551“(2)‘)’ ‘/‘W”} P
0 [y=-3sin(2 nx), black] A
Ans.5={y=3cos(—j,4n,3,[-3,3]} [ (nx] } )
Ans5 = 2 , Ans6=||y=3cos| —— |+3,red ||,| —
oy Lamsorss 22120 2
ns.6 = — sm( ) + 3255 [y:lsin(ij—%blue} 2)
) 7_[ s zl[ilﬂ P !
ns.7 = y——4cos( T )5 |22 L [y=—cos(x)—-2,green] ]| :)
ey | )
Ans.8 = y:—4s1nT +1,10,4,[-3,5] l

L i A
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TrigonometryExercise Answers for No.10914

2
Ansl = [ sin(4) =

74/ 58 34/58 7 4/ 58 8 3 :
Ans2 = {sin(A) = ,cos8(A4) = ,tan(4)=_,csc(4) = ,sec(A4) = ,cot(4) = —}, s {ﬂ}
58 58 3 7 7 o
_ 1 X 1 5 AN1+x
Ans3 =| sin(4) =", co8(4)=—F———=,tan(4) =", csc(Ad) =4/ 1 +x",sec(4d)=—"",cot(4) =x
i 1 +x7 A1+ X X i
1 2 - 1 .
Ans4 =| sin(4)="—",cos(4) = x—’ tan(4) =", csc(4) =x,sec(4) = L, cot(4) = X -1
L X x Ax* =1 Axr =1 ]
[ Ans.I=[y=cos(0),2m 1,[-1,1]] | )
Ans.2=[y=2sin(0),2 m, 2, [-2,2]] N
. 2 - - 2)
Ans.3=|y=sin(50),—, 1,[-1, 1] TX -
5 y=3cos T —4, cyan A
Ans.4:[y:—2cos(6 0), —. 2,[-2,2]} 5 2
3 y=7cos(2 mx), blue o
s [ Lo Lﬂl{ilﬂ ) ’ )
Ans3=| - Ans.> =)y == sn(3 0L TR0 00 || Anso= [y:—ésin(il red} |
0 2 2 )
Ans.6={y: -3 sin(gj -510m 3, [-8, -2]} [y=sin(x)— 1, black] —(
. .
2 — 3qinl = |- :
Ans.7:[y:—5 sin(3n6),g,5,[-5,5]} _[y 3sin| 3’g”eenl l(
1 (n6 11911 B,
Ans.8=|y=—"sin| —/— |+2,4, 2| . .
L 5 2 S5LS 541 L (]

[Page

X

0 3 2410 7
———,cos(4)= ;, tan(4) = T, csc(A4) =

7410 = ot A
5o > Sec(4) =7, cot(4) =

34/10

20

)

o

b
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TrigonometryExercise Answers for No.10945
94/77 N 77 } {4/,-) }
b 2

7,tan(A)—2«7/7777 csc(A)—9 sec(4) = - ,cot(4)= 5 (

3wz/g,csc(A): 7;/5§ sec(A)—7 cot(A)—z;/Sg}, ,[«/?}

Ansl = {sm(A) = 2 ,cos(A4) =

3 2
Ans2 = [ sin(4) = ,c08(A) = ;, tan(A4) =

2 2

-16 +x 4 -16 +x

Ans3 = { sin(4) = B cos(A4) = > tan(4) = R cse(A4) = —(——1)66 N sec(A4) =" cot(A) /__1: e }

2

tnst=] sin() =% cos(4) = L2754 =2, cse(4) = 2, sec(A) = ——im, cot( ) = LETE
ns4 =| SIin —2,COS = 2 , tan —m,csc —x,sec —m,co = N

| Ans.I=[y=cos(0),2m 1,[-1,1]]
Ans.2=[y=3sin(0),2 m, 3, [-3,3]]
27 _
Ans.3=|y=cos(50),—, 1,[-1,1] 1
4 5 y=-=cos(2x)+3, black
A4[ 2'(59)2752[22]} 52
ns.4=|y=-2sImm s o 24 L4
4 5 [ :—sm[ j+2, blue}
1 2m 1 [-11 2
Ans5 =| Ans.5 = y:—Zsm(S 9),T,Z, Z,Z , Ans6 = [y=sin(x)—1, green] |

Ans.6={y:6sin(%j+4,8n, 6, [-2, 10]} {y——3 sm( ] red}
o [y__ism(m)zl[_l 1H [ . [ jy} |

5444

N e e N AN A

(mO
Ans.8 ={y =—4 sm(Tj -5,10,4,[-9, -1 ]}
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TrigonometryExercise Answers for No.10954

C sfa /i

5 41 41 4
,tan(4)=",csc(4d)=—""",sec(4) = ,cot(A4) =g ,

Ansl =| sin(A4) = Al ,cos(A4) = Al 4 P 4 (
Ans2 = sin(A):211/3173,(;03(,4):3§,tan(A):§,csc(A):J§, sec(A):E,cot(A):g}, ,{L()

] 9% X A9 - X
Ans3 =|sin(A)=—""",cos(4) = ;, tan(4)=—"",¢csc(4) =
X

=

sec(A4) = %, cot(4) =—"F—

N
[\ | (O8]
=
()

2
Ans4 =| sin(A4) = sec(Ad)=",cot(4) =—F——
X

,cos(A4) = 5, tan(4) = T, csc(A4) =

3
4/9—x2,

X 4/4—x2 2
f\/4—x2’ ]

Ans.l=[y=cos(0),2m, 1,[-1,1]]
Ans.2=[y=6sin(0),2 m, 6, [-6,6]]

Ans.3=[y=sin(20),m, 1,[-1,1]] i x i
2 y=-3cos| |, red
Ans.4=[y:6sin(5 6),—,6,[-6,6]} 3
: g5 g
- __l IE l :l l y= 2SH1 ) + 4, green
Ans.5=|y="cos(40), .| =,
AnsS5 = 3 23133 , Ans6 = ,

5
{y = 5 sin(2 1 x), blue}
[y =sin(x), cyan]

Ans7—{ ——lcos(Sne)zl[i lﬂ [ ) (ﬁj 2. bl k}
. _y_ 2 a5a2a 2a2 y— COS3 + . ac

0
Ans.6=[y=—5 sin(;j +1,6m5,[-4, 6]}

N e e N N N sl (VRN
: [\S] ><I\.)
L

(O
Ans.8 :[y =-3 sm(Tj -4,10,3,[-7,-1 ]}

~
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X

TrigonometryExercise Answers for No.10966

A7 2 A7 94/ 77 9 2477 :
Ansl ={sin(A) = ,cos(A4) = tan(A) = ,esc(A)=—"_",sec(4) = cot(A) = }, ,{ﬁ}
9 77 77 o
84/73 3473 8 Al 73 A/ 73 3 :
AnsZ:{sin(A): ,cos8(A4) = tan(A)— ,csc(A) = ,sec(A4) = ,cot(A4) :—l ,{ﬂ}
73 73 8 3 8 N
—x 5 A 25 —x°
Ans3 =| sin(A4) = cos(A) = ,tan(A4) = ,csc(A)=",sec(4) = ,cot(d)=—""
L 25 —x° X 25— x° x ]
, A25 - —x 5
Ansd =| sin(A)=—"_"",cos(4) = tan(A) = ,csc(A) = ,sec(A)=—",cot(4)=
L S 25-x° X 25— x|
: Pl
Ans.l =[y=cos(0),2m, 1,[-1,1]] (
Ans.2=[y=2sin(0),2 m, 2,[-2,2]] ')
Al’lS.3=[y:COS(2 9), m, 1, [-1, 1]] [y:—cos(x)+3’blue] —
2m 1 TX o
Ans.4=|y=-6cos(3 6),7, 6,[-6,6] y:—Esin T + 3, cyan 2
ans 5| ym—sin | 414,41 = o2, | )
ns.5=|y=-4sin| — |,4m4,[-4, == , :
AnsS = y ) . Ans6 = v 2cos( Xx), re ’ l
ans6=| y=—tsinco0)-a, 5 L[ 2L L2 -2 ] o
ns. y= s1n ) — 35| 5 3 y=- sin(2 x) + 4, black :)
ans7=y=Lsnano L1 L] - ] i
ns. y= 3 sin(4m 0) >3] 33 5 sin(2 «t x), green | :)
(mO i
Ans.8=|y=-3sin| — |-2,10,3,[-5, 1] :)
L 5 _ —(
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TrigonometryExercise Answers for No.11154

Ansl = sin(A)=88989,cos(A)=58989,tan(A)=§, csc(A4) = :9,sec(A)= 89,cot(A)=§}, ,{L()
Ans2 = sin(A):56161 cos(A):66161,tan(A):§, csc(A4) = gl,sec(A):%,cot(A):gl ,{L()
ans3 =] sin() = P o) = () = P2 () = seet) = 2, o) _
ns3 =| sin(4) = ,cos(4)=",tan(4)=—"""",csc sec(4)="—",co =
2’ x F x’ 4—x*
Anst = { (=P sy = % tan) = ey == ooy = & ot == }
ns4 =| sin(4) = ,cos(4)=—",tan(4) = ,csc(4d)=—F——=,sec(4d)=",co =
A/ 36 X 36 —x°

Ans. I =[y=sin(0),2w, 1,[-1,1]]
Ans.2=[y=5cos(0),2m 5,[-5,5]]

T
Ans.3 :[y:cos(6 0), ?, I,[-1,1]
27
Ans.4={y:4cos(5 6),T, 4, [-4,4]}
0
AnsS = Ans.5:{y=2cos(?j,6n, 2, [-2,2]}

1 2w 1 |-13 -11
Ans.6 = y:2c05(36)— ,TZ
2,

v
Ans.7=[y:—2cos( p j 12,2,[-2, 2]}

4° 4
1 2 1-13 -11
Ans.8 = y——Zcos(Sne) 3,27, TT

54

[Page 0023]

X

I

I

E

, Ans6 =

5
2

y:

y=7

e

1
—5 cos(2x)+4, black}

3
2

[y =sin(x) + 3, blue]

5
2

_'COS(

TX

j -4, cyan}

3

Sin| — , green
o )& ]

TX

j, red

3

N N R N Y N N N

),0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:0.0:9:9.0:9:9.0:9:9.0:9.:9.0:0:9.0:0:9.0:0:0.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:9:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0.:9.0:0:¢
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TrigonometryExercise Answers for No.11191

Ansl = {sin(A) = ! g5 cos(4) = ¢ f tan(4) = ! csc(A) =" sec(A4) = «/275, cot(4) = g}, , {L()}
Ans2-{s1n(A)—4 c:os(A)—«/g an(Ad)=—"_" ﬁ sc(A)zz,sec(A):%,cot(A):«/?l ,P/?}
~ — ,—2 -
Ans3 =| sin(A4) = M, cos(4) = ﬁ, tan(4) = ﬂ, csc(A4) = L, sec(A4) = é, cot(4) =
6 6 X 36 - x* X 36 —x"

, 7 X 7 Al 49 + x* Al 49 + x* x
Ansd =| sin(4d) =—F———=,co8(4d)=—F7———,tan(4)=—",csc(4d)=—"_-,sec(4d)=—"—,cot(4)
L A/ 49 + X A 49 + X7 x 7 x 7 ]

[ Ans.1=[y=cos(0),2m 1,[-1,1]] 2)
Ans2=[y:4sin(6)2n4 [-4,4]] N
Ans.3=| y=cos(30), —,1,[ 1, 1]} i [ 1 (xj } 1| L

y=551n E , cyan |

Ans.4 = {y 3 sin(4 6) — 3,[-3, 3]} [y=—cos(x)+2,red] l(

3 :

Ans5=|  Ans.5— [y——6cos(2j 67, 6,[-6, 6] } . Ans6 = {y:_z sin(2x) +2, blue} : l(
s :

Ans.6:[y=—ésin(5 G)H’ZTR’%’E’%H [ 2° ( ] blac"} l(

oyl ssisn] | begelsael]) 2

1 2 1[29 31 )

Ans.8 = y——6cos(3n9)+558 zz —(
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TrigonometryExercise Answers for No.11309

e e b

tan(4) = ese(4) = 2, see(4) = g cot(4) = y

Lo il

sec(A)— ,cot(4) = 3 (

Ans3 = sm(A) m cos(4) = m tan(4) = csc(A) = sec( )= cot(4) =
Ansd = sm(A) «/7 cos(4) = «/7 tan(4) = csc(A) = sec( )= cot(4) =
x +16 x +16 i

Ansl = [ sin(4) = ! cos(A) =

Ans2 = {sin(A) = ,cos(A4) = i, tan(4) = ,cs¢(A) =

1
|

Ans.l =[y=sin(0),2n, 1,[-1,1]]
Ans.2=[y=3cos(0),2m, 3,[-3,3]]
2 _ _
Ans.3=[y=cos(3 e),—n,l,[-l,l]} 1 (nx
3 y=—_cos| —— |, blue
[ o } 2 2
Ans. 4= y=-6c¢c0s(560),—,6,[-6,6
4 (38,75 6,16, 6] [y:—3 sin(ij—ﬂ,black}
- 1[-11 2
Anss = Ans.5 = y:§s1n(29),rc 31373 , Ans6 = [y=cos(x)—2,red] ,

3
9 = — i
Ans.6=[y=—3 sin(gj+3, 12 n,3,[0,6]} y== sin(2wx) +2, cyan

X
2 _ X
Ans-7=[y=—3cos(5ne),g,3,[-3,3]} i [y 2005(3]5968"} |

1 o 1|-11 -9
Ans.8 = yz—gcos? —2,125 s s
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TrigonometryExercise Answers for No.12483

X

[Page

sec(A)—5 cot(4) = 25}, ,{ﬁ}

21 21 o
4[ sec(A)—4 cot(A)—ﬁl ,{ﬂ}
7 7 (
Ans3—{sm(A) m cos(4) = m tan(A)— ,esc(A)=—"—" sec( )=—"""—,cot(4)="—" }
X+ X+

Ansl ={sin(A)— ?1 cos(A)—2 tan(4) = E, csc(A4) = >

Ans2 = {sin(A) = f cos(4) = 2 tan(A) = ﬁ ,csc(4) =

1 x 1 A1+x
Ans4 :{sin(A) = ﬁ, cos(4d)=—F7——=,tan(A4) =", csc(4) =4/ 1 +x2, sec(4d)=—"",cot(A4) :x]
1+x° A1 +x° X X

[ Ans.l=[y=cos(0),2m 1,[-1,1]] | )
Ans.2 =[y=6sin(0), 2n 6,[-6,6]] (
2)
Ans.3=|y= 50),—, 1,[-1,1 -
" {y sin( ) - ]} [y:sin(.x)+2, cyan | o
Ans.4 = [y 5 sin(6 6) -, 5,[-5, 5]} [y:5—2 Sin(2 %), black] =
1 2n 1 [y=gcos E]+4’ blue} )(
AnsS = Ans.5=[y 2s1n(5 0),—, = [_ —H , Ans6 = 5 T x ) _
0 [ y= _E sin(Tj — 4, red } '.(
Ans.6:[y:—4 cos(—j+2, 10 &, 4, [-2,6]} 2
5 1 (nx "
1 11 11 y=2COS( 3 J,green} )
Ans.7 = [y—— sin(4m0), =, {—,—H B - £
5 2515’5 A
sl | "
Ans.8 =| y=-5 cos ? +4,12,5,[-1,9] —(

(V102N 1D:9:9:9:9:9:9.:9.:9.:9.:9.9.9.9.9.9.0.0.0.0:0.0.0.0.0.0.0.9:0.0:9.9:0:0:0:0:0:0:0:0:0:0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.:0:0:0:0:0.:0.0.9.9.9.:0.0.0.:0.:0.0.0.0.9.9:0.0.9.9.9.0.0.0.0.0.0.0.9.0.0.0.0.4
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TrigonometryExercise Answers for No.12557
34/34 5 A 34 3 V)
,tan(4) = csc(A) = ,eot(A)=—1, ,| =~
34 5 5 o

442 7 4ﬁ 942 9 7«/5} [«/7}

- “
Ansl =| sin(A4) = ,cos(A4) = ,sec(A4) =

5 ,cos(A)zg,tan(A)z . ,csc(A4) = . sec(A)— ,cot(A) = S

V 2 [ 2
Ans3 = { sin(A4) = COS(A) = ﬁ, tan(A4) = ;, csce(4) = = sec(A) —5 , cot(A4) = WESEE }
3 25 —x° Al 25 X
Ans4 = { sin(4) = /— cos(4) = «/7 tan(A4) = csc(A) = sec(A) =————— cot(4) = }

Ans2 = [ sin(4) =

Ans. 1 =[y=sin(0),2 m, 1,[-1,1]] l

Ans.2 =[y=2cos(0),2m 2,[-2,2]] )(

. 2mn i 3 TX | -

Ans.3=[y=sm(3 9),T, 1, [-1, 1]} [y:—gcos(Tj,green} |

e 2

Ans.4:[y:3c0s(6 e),g, 3, [-3,3]} [ Ly=sin(x) =2, red] o

B B y=3 sm( j+2 blue} :)

Ans3 = Ans.5 = [y— lsm(2 0), m, 1 { ! IH > Ans6 = 2 T
31373 3 TX

0 [y = _E cos(—] + 4, black} 2)

Ans.6 = y=6sin| —|—-2,4 7, 6,[-8, 4] A
2 X

) 0 LTo1 1 {y:2sm(5j,cyan} :)

Ans.7 = [y =— sin[—J, 4,-, [—, —H - h A

47\ 2 4144 _

| Ans.8=[y=-5sin(270)+2,1,5,[-3, 711 l(

DGR ETe [SHE RN VIOV E D19:0:0:0:0:0:0:0:0:9:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.0.:0.0.:0:0.:0.0.0.0.0.9:0.0:9.0.9.9.0:9:0.0.9:0.9.9.9.9.9.9.0.0.9.0.9.9.9.9.9.0.0.9.9.9.9.9.9.9.9.9.9.9.9.9:0.9.9:0.9.9.9.0.9.0.4
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TrigonometryExercise Answers for No.12637

5 3434 5 34 4/ 34 3 :
Ans]={sin(A)= ,cos(A4) = 4 tan(A)— ,csc(4) = s ——,sec(4) = ,cot(A)=g}, ,{L()}
7 8 7 9417 9 84/ 17 :
Ans2 = {sin(A) = ,cos(4)=",tan(4) = ,csc(A) = ,sec(4) = cot(A) = }, , { ﬁ}
9 17 17 N
—x 7 7 —x
Ans3 = sm(A)— ,cos(A4) = ,tan(A4) = ,csc(A)=",sec(Ad)="—F———=,cot(4) =
i 49—)c2 x 49—)62 i
] X —x 4 4 —x
Ans4 =| sin(4)="—",cos(4) = ,tan(A4) = ,csc(A)=",sec(Ad)=—F———=,cot(4) =
I 4 16 — x* x 16 — x* X
[ Ans.l=[y=sin(0),2m 1,[-1,1]] | )]
Ans.2 =[y=—4cos(0),2m 4, [-4,4]] (
T .
Ans.3:{y:cos(4 0), -, 1,[-1,1] . 2
2 . [y =—sin(x) — 2, green] (
Ans4—[ —6cos(59)2—n6[66] { > (ij } 2
. y s 5 s Y H _ y_ 2COS 2 ,cyan (
0 =3 sin(2 -2, black :
AnsS — Ans.5:{y=—6 cos(?,j 61,6,[-6,6] y =3 sin( ’Txx) > black]) | o)
{ { 22 [y =2 sin(;) -4, red} '.(
Ans.6 = [y:—sm(2 0)-1,m, ,{ - } 2
3 3 X (
y=-2cos , blue
1 1 2 I 2
Ans.7=|y =— cos ,4— - -
41474 o
1 2)
Ans.8 = y=—4cos(6n6)—3,§,4,[-7,1] —(
0028] KKK KKK XX XXX XXX XX KX KX XK KK XK KKK KKK KKK K KKK KKK KX KK KKK KKK KKK KX KKK KKK KKKKKK

X [Page =




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXKXXXKX XXX KKK XKLL XKL LKL KKK LKL LXK KKK KKK KKK K KKKKKKKKKMS /1-6700302-00029XX

TrigonometryExercise Answers for No.12689
77 2 A 77 9 2477 A
Ansl = {sin(A) =———,cos8(4d)=",tan(4)=""_",csc(A4) = }, , { 2 }
9 9 2 77 77 :(

84/73 3473 8 J73 73 3}’ {ﬂ}

Ans2 = {sin(A) =" cos(A4) = - tan(A4 ) :g, csc(A) = g sec(A) :T, cot(A4) :g y

I 6 A/ X2 =36 6 x x q/x2—36_

Ans3 =|sin(4A)=",cos8(A)=—",tan(4d)=—F7———=,csc(4d) =", sec(4d) =—F——,cot(4) ==
X X At =36 6 A =36 6 |

I XZ— X X — |
6 A X -36 6 A X =36

X
Ans4 =| sin(4)=—,cos(Ad)=—"—"————,tan(4) =—7———, csc(4) =—, sec(4) =——, cot(4A) ==
x x A 36 6 A x* =36 6 ]

7 9
—_—,sec(4)= 5, cot(4) =

Ans. 1 =[y=cos(0),2m, 1,[-1,1]] 2

Ans.2=[y=-6sin(0),2 m, 6, [-6, 6]] o

i _ - 2)

Ans.3=[ =sin(60),—, 1,[-1, 1 } -

Y (69) 3 [ ] {y:—3 sin(?j, blue} A

s 2)

Ans.4:{ =-2co0s(60),—,2,[-2,2 } -

Y (69) 3 [ | |:y=2COS(%J—3, black} N

0 ) ) :

Anss = Ans.5:[y:—3cos(—j, 127:,3,[-3,3]} . Ans6 = (X , 2

6 y=-2sin| —— |, green o

, 6_[ IR lQl[ﬁﬁﬂ : o]

ns.6 = y—4c05( )—1, s a1 i [yl—cos())cc)—2,re 1 ¢

2 Lo E .

Ans.7=[y=—2 sin(3 7 0), 2, 2,[-2,2]} R 2005(2j+4, cvan || l(

[ | -(ne] 1[5 7H )

Ans.8=|y=—"sin| — |[+2,4,,| .= o
L 3 2 303311 ] L o
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TrigonometryExercise Answers for No.13349

2] 1

65 A

{ 3 4 3 5 5 4} [
Ansl =| sin(4) = cos(A) =" tan(A) = csc(A) = sec(A) = cot(A) =—1 ,

9
,sec(4) = cot(A) =

9
,csc(A) =

Ans2 = {sin(A) = ,cos(4)= g, tan(4) =

16 +x° 4 16 +x°

Ans3 = { sin(4) = f’ cos(4) = ;, tan(4) = #, csc(A4) = ﬁ sec(A4) = cot(A )= ﬁ}
Ansd = { sin(4) = m cos(4) = m tan(A4)=— csc(A) = sec( )= ,cot(4) = %}

1

i Ans.1=[y=sin(0),2m, 1, [-1,1]] 2
Ans.2=[y=5cos(0),2m, 5,[-5,5]] A

. 2 - - 2)
Ans.3=|y=sin(30),—, 1,[-1, 1 =

" [y sin(3 0) 3 [ ]} [y=—2 sin(%j—%cyan} A
Ans.4={y:—6sin(49),£, 6,[-6,6]} [ 5 } 2
y=7_cos(2x), blue N

4 5—{ ~Lsin(40 El[ilﬂ ’ )
Ans3 = ns.3 = y=3sin(40), 555 53 o Ans6 = [y:%sin(%j, black} |
6 .

Ans.6:[y:—2 sin(g}+ 1,10m, 2, [-1, 3]} [y=-sin(x)+ 3, red ] l(

5 X ’

Ans.7 = [y _ 5 cos(%ej, 12,5, [-5, 5]} _[y ) COS(E] T4 g”eenl l(

1 21/[-19 -17 )

Ans.8 = y——gcos(3n9) 358 ?? —(
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TrigonometryExercise Answers for No.13519

X

54/29 24/29 5 229 {29 o 2} {«/7}
CO =" -
2 9 5 b 9

,cos(A4) = 9 tan(A4) =5, csc(A)="",sec(4)= (

> f, cos(4) = 2 f, tan(A4) :g, csc(A4) = J?, sec(4) = E, cot(A) :2}, , {L()}

Ans3 = { sin(4) = ﬂ, cos(4) = l, tan(4) = ﬂ, csc(A4) = — ,sec(4) = cot(A) #}
X X 7 Al X =49 A X — 49
Ans4 = { sin(4) = ﬂ, cos(4) = i, tan(4) = ﬂ, csc(A4) = ;, sec(4) = i, cot(4) = L}
x x 4 Al =16 + x> 4 A =16 + x°

Ansl = {sin(A) =

Ans2 = {sin(A) =

Ans. 1 =[y=sin(0),2m, 1,[-1,1]] l
Ans.2=[y=6cos(0),2 7, 6, [-6,6]] ‘(
Ans.3=[y=cos(20), 7 1,[-1,1]] i D)

- y=-2cos + 2, black N

Ans.4:{y=—2 sin( 6 6),;, 2, [-2,2]} l

0 [y——cos[ﬁj cyan} N

Ans.5={y: 5 sin(—j, 1215, [-5, 5]} 2 \2 )
Ans5 = 6 , Ans6 = [y =sin(x) + 2, red] |
| n1[4-2 x :(

Ans.6 = yz—gcos(46)—1, >33 3 y =-2 sin| 5 , blue l(
0 :

Ans.7 = [ y=-5 sin(%j, 6,5,[-5, 5 ]} [ y :% sin(%j _2, green } Pl

I 2135 o

Ans. 8 = y:—4cos(3n6)+lgz Z,Z 2)
| y

[REEICSRESRIVC NN 1D:9:9:9:9:9:9.:9:9:9.9:9:9:9:9:9:9:9:9:9.9.9.9.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0:0.0.0.0:0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.:0:0:0.0.0.0.9.9.:0.:0.:0.:0.:0.0.0.0:0:0.0.0.9.0:0.0.0.0.0.0.0.0.0.0.4



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXKX XXX XXX XKLL XKL LKL KKK LKL KKK LXK XKL KKK K KKKKKKKKKMS /1-6700302-00032XX

TrigonometryExercise Answers for No.14276
74113 8 J113 113 4 7} {«/.-)}
CO = -
2 8 b 2

Ansl = {sin(A) = m, cos(4) = ,tan(4)=—",csc(4d)=—"",sec(4) = (

113 113 7 8 7

3458 ,cos(A4) = 7458 ,tan(A4) :g, csc(A) = ﬁ, sec(A4) = ﬁ, cot(A4) :z}s »{ﬁ}
58 58 7 3 ! .

_ x A 16 — X x 4 4 A 16 = x°

Ans3 =|sin(A)=",cos8(A)=—",tan(4d)=—F7————=,csc(4d)=",sec(4d) =—F——,cot(4 ) =——
4 4 A16-x x A16-x X

gl g2 A X2

ns4d =| sin(4) = B , cos( )—x, an(A4) = 5 , esc( )—m,sec( )—2,co( )—ﬁ

Ans2 = {sin(A) =

A

+

=
)

-4 +x

[ Ans.I=[y=sin(0),2m, 1,[-1,1]] )
Ans.2=[y=-5co0s(0),2m,5,[-5,5]] N
s - - 2)
Ans.3:[ =cos(40), —,1,[-1,1 3 -
Y ( )2 [ ] {yz——cos(2x),green} N
A 4[ 4'(56)2754[44]} ’ )
ns.4=|y=—4sin o 4[4 o
4 5 [y =2 cos(i] -4, black} o
P 5_[ I l[ilﬂ 2 )
AnsS5 = ns.5 = y—ssm( ), T, 5| 505 , Ans6 = {y:_?) sin(%j, cyan} o
e .
Ans.6:[y:4cos(—)—5,6n,4,[-9,-1]} 3 —)
3 y="sin(2 tx) -2, blue o
| 1[-11 2 )
Ans.7 = y:—gsin(2n6),l,§, ;,5 L [y =cos(x), red] —(
T o 2)
Ans.8 = y=—4cos7 +5,4,4,[1,9] _(
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TrigonometryExercise Answers for No.14380
44/7 4 3«/7} {«/.-)}
7 b 2

,sec(A)=g, cot(4) = . (

AnsZ:[sirl(/l):z«/gH COS(A)—— tan(A)—zr csc(A)zggE sec(A)_9 co t(A)—%l [ﬂ}

Ans3 =| sin(A4) = %, cos(4) = % tan(4) = csc(A) = sec( )= cot(4) = B
L X"+ 36 X"+ 36 ]
N —— -
Ans4 =| sin(A4) =l, cos(A4) :x——49’ tan(A4) :4 csc(A4) = sec(A) ;, cot(A4) :x——49
L x x AP —49 Al x> — 49 7

Ansl = {sin(A) = f cos(A) —i tan(A4) = ﬁ ,csc(A) =

Ans.l =[y=cos(0),2 7, 1,[-1,1]]

1 w0 1]-11 -9
Ans.8 = y=—Ecos ? -5, 12,5, 7,5

2

o

Ans.2 =[y=2sin(0),2m 2,[-2,2]] - s . 1 2
Ans.3=[y:cos(6 0), = 1,[-1, 1]} [y:_ECOS(TJ Cya”} (

3 [y = sin(x) — 1, blue] 2

Ans.4=[y=6cos(20), 6, [-6,6]] . N o

0 N .

Anss = Ans.5:{y=2sin ; ,10m, 2, [-2,2] , Ans6 = {y 3C0S(3j+2’ black} , l(
1 X ’

1 27 11113 _ = sin| = -

Ans.6 = [y———sm(56)+ - [ —ﬂ [y 2sm(3]’red} 2
4 5°414° 4 L o
Ans.7=[y=-3sin(27m0),1,3,[-3,3]] {y:—gsin(7j+3,green} l

i Ui

:)

o
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TrigonometryExercise Answers for No.14393
94/17 «/17} {«/.-)}
b 2

7 84/ 17 9
,tan(A)=—17 ,csc(A):g,sec(A)= s , cot(A) = " "

: SaCSC(A)Zé,SeC(A)=3ﬁ,cot(A):£}, {ﬂ}
> 2 5 2 o

Ans3 {'(A) [A4x )= () = L oy () =% cot(A) = ——= }
ns3=|sin(d)=—"—"—"—cos(4d)=—",tan(4)=—————, csc(4d) =—F7—, sec(4) =, co =
X X z A -4+ 2 A =4+ x°

Al 49 — x* X A/ 49 _r

2
Ans4:|:51n(A): 7 ,COS(A):7,tan(A): . ,CSC(A)—m,SeC(A)—x,COt(A)_m:|

8
Ansl = {sin(A) = 5, cos(4) =

2 5
Ans2 = {sin(A )= g, cos(A4) = T’ tan(A4) =

R

i Ans.1=[y=cos(0),2m 1,[-1,1]] o

Ans.2=[y=4sin(0),2n, 4,[-4,4]] 2

Ans.3=[y=cos(20),m,1,[-1,1]] i i o

Ans.d=[y=-3cos(20), 7,3, [-3,3]] y=7008(2x), red B

0 o o

Ans.5 = [ y=6 cos(zj, 41,6, [-6, 6]} [3«V = —sin(x), blue] : )(

X N

AnsS5 = - _l ‘ 2_7.[1 ﬁﬂ , Ans6 = yZECOS T —4, black} s _(
Ans.6 = y="sin(50) — 3, ., , )

4 54104 4 [y=3sin(2tx),cyan] 2)

ns./=\y= SCOS 6 ) “ 5l 505 _y=—2cos(2x)+2,green_ )

2 .

Ans.8z[y=—6sin(5n9)+5,g,6,[-1,11]} )(

L o
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TrigonometryExercise Answers for No.14417

2f 5;/? 7 746 2%}, [

5
Ansl = [ sin(4) = ;, cos(4) = ,tan(A4) = 5 csc(A4) = g, sec(4) = T, cot(4) = s

84/89 54/89 8 89 |89
89 8 5

29 cos(4) = ,tan(4) = g, csc(A4) = ,sec(A4) =

/36 — X x A/
6

6 6
,cos(A)=",tan(A)=—""""",¢cs¢(4) = ﬁ, sec(A)=",cot(4) =
36 —x X

Ans2 = {sin(A) =

Ans3 = { sin(4) = p

q/x2—9

Ans.l1=[y=sin(0),2m 1,[-1, 1]] l
Ans.2=[y=-6co0s(0),2 m 6,[-6,6]] '_(
Ans.3=[y=cos(20),n, 1,[-1,1]] _ _ 2
{ 2_75 } { =-3 cos(ﬂ)—4 blue} (
Ans.4=|y=4cos(50), s ,4,[-4,4] Y 3 ’ )
0 [y=—cos(x)—1, green] o
Ans.5:[y:—3 sin(—),mn, 3,[-3,3]} { 3 (x )
Anss = 5 , Ans6 = y=_sinl — |- 3, red | =
) 6{ L o 1[-21-19H 2 \2 1
. 4 4s1n( )= 4L 4° 4 {y:fisin(ij, cyan} 2
el hesl33] 3 )
Ans.7 = y——2cos 3 ,6,2, 22 L [y=-3cos(2nx),black] 1| :)
2 o
Ans.8:[y:—4cos(5ne)—4,g,4,[-8,0]} 2)
Lo
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w=2| |22
QCO =" b b
8 o«
_x
2

36 —x°
X
Ansd {'(A) > cos(4) tan(4) =—= (4) ==, sec(A) =———, cot(4)
ns4 =| Sin =", COS = ,tan =" ——,CSC ="_,S€C =" r———,C0 =
X X Ax =9 3 Ax =9

7]

.

(8]
(@)}
|
=

=
w [\
|
\O
L 1
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